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Home Half-yearly Examination, 2020

Class : III
Subject : English

Time : 2% hours Total marks : 50

(The figures in the margin indicate full marks for the questions.)

1.

Fill in the blanks with the capital
cursive letters. 2% 14=07

Write the following numbers in
words. 1x3=03

9, 11, 25
(1) PTO.



Write the following numbers in
figures. /2x4=02
Six, Thirteen, Twenty two,
Thirty

Rearrange the letters to get
meaningful words. 1x5=05

a. €ors b. avuga
c. low d. oatg
e. bacbgae

Fill in the blanks. 72x4 =02

a. D—ck c. —eans
b. Ro—nd d. P—nk

Find out the odd one. %2x4 =02
a. Mango, Potato, Orange

b. Grapes, Peas, Cauliflower

) Contd.



c. Cucumber, Pineapple,
Lady’s finger

d. Carrot, Papaya, Apple

Write the names of 5 (five)
flowers. 1x5= 05

Write the names of 5 (five) birds.
1x5 =05

Write the names of 5 (five)
animals. 1x5=05

. Write the colours of the following
objects. 1x5 =105




11. Identify the following shapes and
write their names. 1x5 =05

12. Write the following line in
beautiful cursive hand. (4 times).
4

The sky is blue.

* % %
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Total no. of printed pages : 4 1102/20

Home Half-yearly Examination, 2020
Class : IV
Subject : English

Time : 2% hours Total marks : 50

(The figures in the margin indicate full marks for the questions.)

1. Choose the correct answer and rewrite the
sentences. 1x3=3

a. There are ten boy/boys in the room.
b. The police caught the four thief/thieves.
c. I have many ball/balls.

2. Match the following words with their plural

forms. 1%x3=3

a. Book Babies

b. Man Books

c. Baby Men

3. Match the animals and their young ones.

1x3=3

a. Cow Piglet

b. Pig Lamb

c. Sheep Calf

(1) PT.O.



Write the cries of the following animals.

1 x4=4
a. Cat — ——
b. Owl —
c. Frog — eeeeeeerreeeeeeen,
d. Bee e,

Fill in the blanks with the appropriate
pronouns. 1x5=5

a. The boy is polishing his shoes
(himself'/ itself).

b. The elephant is taking bath

(its / itself).
c. The girl is cooking food
(herself / myself).
d. I am doing my homework
(herself / myself).
e. They are doing the work
(itself / themselves).
Match the words with their opposite genders.
1x5=5
a. Brother Madam
b. Uncle Princess
c. Prince Aunt
d. Grandfather Sister
e. Sir Grandmother

(2) Contd.



Put the words in the right order. 1x5=5
a. yellow/flower / bright /a/ this/ is.

b. looks / my / happy / mother.

c. smells/the/nice / flower.

d. to/school/they/ go.
e

my / car / like / L.
Fill in the blanks. 1x5=5
Present Past Past Participle
a. Bring L Brought
b. Speak Spoke
c. Ran Run
d. Go L Gone
e. Ate Eaten

Read the following sentences and put capital
letters, full stop, comma and question mark
wherever required. 1x5=5

1 love my mother

a.
b. we love to play football tennis and chess

e

where is your school

Q.

dispur is the capital of assam

e. who is your class teacher

3) PTO.



10.

11.

12.

Find out the adjectives in the following
sentences and write them. 1x2=2

a. Sita looked sad.
b. It is a cold day.

Write the following sentence three times in
cursive handwriting. 5

Butterflies are beautiful.

Translate the following sentences into

English. Ix5=5
a. PrRre il =i
b. ANl
c. W2 HAIE O NG|
d. S et SRS |
e. P SRl |

Xk Xk X

(4)
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1. Answer each of the following questions in
complete sentences. 1x8=8

a) What is performed at night during Holi ?
b) Who is Harish ?

¢) What did Ozma have ?

d) Who was Dorothy ?

e) Where did the Hawk family live ?

f) How much water should we drink daily ?
g) Why could the hunters not sleep ?

h) How old is Jonak ?

2. Write whether the following statements are true or
false. 1x5=5

a) The man suffers from tonsillitis.

b) Kirtan Ghar is in Barpeta.

¢) Jonak’s uncle is a teacher.

d) Ozma chanted some mystic words.

e) Harish carries a gun with him.

3. Write the poem Tulips. 4

(1) PTO.



Fill in the blanks with correct simple present tense

form of the verbs given in brackets. 1x4=4
a) He  (play) chess everyday.

b) The earth  (revolve) round the sun.

c) Amit __ (buy) a novel every month.

d) They  (write) short stories for magazines.

Fill in the blanks with correct simple past tense form
of the verbs given in brackets. 1x4=4

a) They (visit) Delhi last year.

b) I (meet) him last week.

c) She (buy) a beautiful frock yesterday.

d) My grandmother (tell) me a story last
night.

Fill in the blanks with correct simple future tense

form of the verbs given in brackets. 1x4=4

a) Sima (send) the book tomorrow.

b) They (build) a house next year.
c) He (teach) me the lesson next Monday.

d) Hari (go) to the market tomorrow.

Fill in the blanks to make the sentences negative.
1x3=3
a) They went to the village.

They to the village.

b) My friends play football.
My friends football.

) Contd.



c¢) He draws beautiful pictures.

He beautiful pictures.

Fill in the blanks to make the sentences interrogative.

a) They drink milk.

they drink milk?

b) He is your friend.

he your friend?

c) She sings well.
she sing well?

1x3=3

Match the words from A with the words B.

A
king
enemy
joy
tiny
teach
good
timid
up
fast

clean

)

B
down
dirty
brave
educate
ruler
SOITOW
huge
speedy
foe

nice

¥2x10=5

PTO.



Fill in the blanks with the help of words given in

brackets. 1x5=5
beautiful tiffin box

rectangular in shape blue in colour

bring tiffin to school made of plastic

This is @ .ccoveveeeneee. s

and ................ I L R )

I always ......ccc....... .

Translate the following sentences into English.
1x5=5

a. 3 (O€F HifeT w91 A3t |
b. TN RwieTEee T |

c. To9@ @ ({2

d. ©R B T TN NG |
e. T (W oot %7 |
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Class : VI
Subject : English

: 2% hours Total marks : 50

(The figures in the margin indicate full marks for the questions.)

1.  Answer the following questions:

a)
b)
c)
d)

e)
f)

2

Who was Chanakya ? 1
Where is the Manas National Park located ? 1
What happened to the woodcutter’s axe ? 1
Write the names of the two books written by
Chanakya. 1
How was the woodcutter ? 1

How many arms and knees are there in our body?

1
How much money does Antonio borrow from
Shylock? 1
When did the Crimean War break out ? 1
Write two pairs of rhyming words from the poem
‘Little Silver Fishes’. 1
Where do the fish play? 1

Write briefly about the historical importance of Sri
Surya Pahar. 2

What are the rare and endangered species the
Manas National Park is famous for ? 2

(1) PTO.



3.

Write whether the following statements are true or
false: V2x4=2

a. Florence Nightingale died at the age of 80.
b. The water-fairy was a beautiful girl.
c. Chanakya was born in a Brahmin family.

d. Florence’s father was a poor man.

Fill in the blanks with the correct alternative: Y2x4=2

a) Shylock is a and a money lender.
(Jew/lawyer)
b) There are 25 of different shapes at Sri

Surya Pahar. (stupas/lingas)
c¢) The lawyer is actually Portia in .
(court/disguise)
d) Naranarayan Setu is about kilometres
from Sri Surya Pahar. (37/27.7)

What are they known as: Yax2=1

a. One who spends too little
b. One who draws map

Write the plural forms of the following nouns :
Vax2=1
Calf, Woman

Read the following sentences and write the kind they
belong to: Vax2=1
a) Go there.

b) May God bless you.

) Contd.



8.

Fill in the blanks with the correct alternative given
in the brackets: 2x16=8

®

- e o

S

—

! Today is a holiday. (Hurrah/Alas)
! His grandfather is no more. (Oh/Alas)

He is M.L.A. (a/an)
This is loveliest picture. (a/the)
Give me one rupee note. (a/an)

Qutub Minar is in Delhi. (the/an)

She is fat not strong. (or/but)
Two two are four. (and/or)
Walk fast you will miss the school bus.
(and/or)
They are sad hopeful. (and/but)
Did he buy book? (any/many)
There are mangoes in the basket.
(some/any)
Give the girl oranges. (a few/few)
There is hope of his brother’s returning.
(a little/little)
Today I am feeling better.
(much/many)
She worked here for years. (many/much)

3) PTO.



9.

10.

11.

12.

13.

14.

Fill in the blanks with the correct form of the personal

pronouns given in brackets : Yax2=1
a) Isaw (He)
b) Isthat frock? (You)

Rewrite the sentences by using the adverbs in brackets
in their proper position : 1x2=2
a)  She goes to the cinema. (Sometimes)

b)  Mina has completed her project. (Almost)
Rewrite the sentences using the present perfect
continuous tense : 1x2=2

a)  The girl (sing) for an hour.

b)  We (wait) for you here since noon.

Fill in the blanks with suitable forms of adjectives:
1x2=2

a) Sheis  than her sister. (intelligent)

b)  Thisis the city in India. (big)

Construct one sentence for each of the following
structures: 1x4=4

SV, SVA, SVOA, SVC

Translate into English: 1x5=5
a) W2 e 2o |
b) 3 comE e wifer sircet |

c) AR |
d) RO FRIE?
e) 3 ORIA|

4 Contd.



15.  Write a paragraph on any one of the following topics :
(50 to 70 words) 5

a. My favourite book
b. My hobby
c. A memorable day of my life

d. My favourite actor

x X X

)
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Home Half-yearly Examination, 2020
Class : VII
Subject : English
Time : 2% hours Total marks : 50

(The figures in the margin indicate full marks for the questions.)

1. Answer the following questions in complete sentences.

1x10=10

a) How does every member of Barun’s organization
take care of street dogs?

b) What was Ben doing when Tom saw him?

¢) What did Lakshmi do to earn her living?

d) Where does the owner of the woods live?

e) What did Marie’s father teach?

f) How many continents are there on the earth?
g) Where was Marie Curie born?

h) Who was searching for Tom?

1)  What is the largest hot desert of the world?

j)  Write the thyming word of ‘sleep’ from the poem
‘Stopping by Woods on a Snowy Evening’.
2.  Write whether the following statements are true or
false. 1x4=4
a) Jim came with a bag.

b) Tom said that it was very enjoyable to whitewash
the fence.

(1) PTO.



c) Billy Fisher gave Tom a kite.
d) At the end of the day the fence had been

whitewashed twice.

Fill in the blanks with appropriate words. 1x6=6
a) Maria married

b) The people of Sweden are called .

¢) ___ most: highest in rank

d) The people of Ireland are called .

e) Maria’s father was the director of two Warsaw

for boys.

f)  most: nearly

Identify the adjectives and write them separately.
1x4=4

a) Guwabhati is a large city.

b) I like the Asian music.

c) All the boys played well.

d) It is a cold day.

Combine the following pairs of sentences using

appropriate correlatives. 1x3=3

a) The police reached the place. The thief ran away.

b) He may come here tonight. I am not sure about
it.

c) She is very busy. I am not so busy.

) Contd.



Make sentences of the following. 1x2=2

Break down; Come of

Use the correct tense form of the verbs given in
brackets and rewrite the sentences. 1x3=3
a) I (feel) cold now.

b) He (do) the work just now.

¢) Raju always (go) to school on foot.

Write a few lines about the importance of spending

time with family. 5
Match column A with column B. 72x10=5
A B

a) The weight of the small packet heavy
was as light as a

b) Greece rich

¢) When we visited Tawang we bee
saw ___ Snow.

d) The colour of the car is as Greek
red as

e) Success feather

f) This area has a  history. SOITOW

g) The child is as busy asa . renowned

h) Switzerland failure

1) famous blood

j) grief Swiss

3) PTO.



10. Translate the following sentences into English.
1x8=8
i) @3 T (oNF |

i) I SErel oAl |

i) @3Co P TV 2

iv) iz SeI! it |

V) (TR @ 79 HIE ok |

vi) STRIRIE (He G (2 Stz
vii) et Fifer fwrezes onffeeter 2

vii) 1 9@ # ©F 7|

* K X
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Class : VII
Subject : Computer Science

Time : 1 hour 15 minutes Total marks : 25

(The figures in the margin indicate full marks for the questions.)

1. Choose the correct option : 1x10=10
a) A computer is an device.
1) digital i1) electronic iii) display
b) Mouse is a/an device.
1) input i1) output iii) playing
c) Printer is a/an device.
1) input ii) output iil) both (i) & (ii)
d) Mini computer is bigger than computer.
i) personal ii) laptop iii) micro
e) The place where data is stored is called —.
i) storage ii) speaker iii) monitor
f) C++ is an example of language.
i) low level 1ii) high level i) both (i) & (ii)
g) —— key is used to move the cursor up.

i) left cursor ii) up cursor  iii) down cursor

1 PTO.



h)

Numeric keys start from ——.

i) 0to 1000 i) 1to9 iii) 0to9
1) —— key is opposite of Home key.

1) end i1) cursor iii) tab
) “@” is an example of key.

1) enter il) numeric iii) symbolic
Write T for True and F for false one. 1x10=10
a) Speaker gives sound as output.

b) Monitor is also known as VDU (Visual Display

Unit).

c) Laptops are portable computer.

d) Super computer is the smallest computer among all
types of computer.

e) Storing means deleting data permanently.

f) Physical components of a computer are called

Hardware.

g) Hard disk has bigger storage capacity.
h) In High level language instructions are written in the

form of 0’s and 1’s.

1)  Space bar key is used to give a blank space between
two characters.
j)  Delete key is used to delete the right side characters

of the cursor.

2 Contd.



Match the following : 1x5=5

a) An example of a) is an application of
function key is computer.

b) Business b) F5.

c) Reliability c) is an example of

operating system.

d) Windows 2007 d) %.

e) An example of e) Characteristic of a
symbolic key is computer.

* %k
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Home Half-yearly Examination, 2020
Class : VIII
Subject : English
Time : 3% hours Total marks : 100

(The figures in the margin indicate full marks for the questions.)

1. Answer the following questions in complete sentences.
1x8=8
a) Why was Gandhi’s father confined to bed ?
b) Where did the miller live ?
c¢) When was the first panchayat established in
India ?
d) What does food supply to our body ?

e) Where is the only floating national park of India
situated ?

f)  Which state has the highest concentration of
rhinos ?

g) What does the 1993 census say about dolphins ?
h) Who was the god of medicine ?

2. Write brief answers to the following questions. 2x4=8

a) What was Tom’s compensation for losing the
tooth ?

b) Why did Tom want to stay away from school on
Monday morning ?

c¢) What are the festivals celebrated in Manipur ?

d) How does sleep help us to be healthy ?

(1) PTO.



Write whether the following statements are true or
false. 1x8=8

a) Sugar has protein.

b) Gandhi’s father often beat him.

¢) Tom was successful in avoiding school.
d) Panchayats always have five members.
e) Smriti’s uncle lives in Guwahati.

f) India is a democratic country.

g) Tom disliked Monday mornings.

h) The golden langur is seen on the Bhutan side of

the Manas river.

Write the meaning of the following words :  1x5=5
chieftain, oft, blithe, boast, lone.

Give rhyming words for each of the following :
Vax4=2
died, peas, deck, sky

Why could Casabianca’s father not hear his voice ? 1

Where did the bird live alone ? 1
What did the people in the ship do when it caught
fire ? What did Casabianca do then ? 1+1=2
Explain with reference to the context : 4

“I kiss’d you oft and gave you white peas ;

Why not live sweetly, as in the green trees ?”

) Contd.



10. Use the correct tense form of the verbs and rewrite

I1.

12.

the sentences : 1x5=5

a)
b)
c)
d)
e)

When I entered her room, she (sleep).

I (go) to Jorhat last week.

It (rain) since 10 o’clock.

The old man (go) for a walk every morning.

We (know) each other for ten years.

Change the voice of the following : 1x5=5

a)
b)
c)
d)
e)

I invited him to the party.
Rita has done the work.

I will read the book.

[ am loved by my parents.

They are painting the house.

Change the form of narration of the following : 1x5=5

a)
b)
¢)
d)
e)

He said to me, “I saw you yesterday.”

He said to me, “What are you doing now ?”
Rina said, “I have finished my work.”

My father said to me, “I will take care of you.”

The man said to me, “Do you know the way to

the station ?”

3) PTO.



13.

14.

15.

Choose the right determiner from those given in

brackets and rewrite the sentences : Vix4=2
a) He is — honest man. (a/an/ the)

b) There is — sugar in the pot.
(little / a little / the little)

¢) Idonot want to buy — books. (some / any / few)

d) Sheis——M.A. of Gauhati University. (a / an / the)

Choose the right preposition from those given in

brackets and rewrite the sentences : ¥2x6=3
a) The teacher was angry — his behaviour.
(at / with / on)

b) Shoes are made — leather. (of / from / with)
c) Distribute the apples — all the boys.
(between / among / to)
d) His father died — malaria. (from / of / by)
e) Raj deals — tea. (in/ with / at)
f) The house consists — five rooms. (on / of / with)
Fill in the blanks of the following sentences with

appropriate phrasal verb given in the box. (Use the

correct form of the verb) 1x4=4

look for, call off, give up, bring up

a) She — the poor child.
b) I am — my pen.

4 Contd.



16.

17.

18.

¢) Try to — your bad habits.
d) They have — the meeting due to heavy rain.

Find out the principal clause, subordinate clause and co-
ordinate clause from the following sentences : 1x4=4
a) I don’t know what his name is.

b) He is tall but his brother is short.

¢) You must study hard otherwise you will fail.

d) He told me that he would return soon.
Complete the following sentences using the

appropriate correlatives from the box given below :
Vax4=2

no sooner ... than, both ... and, though ... yet,

so ... that
a) I like — painting — music.
b) He is — weak — he can not walk.

¢) — had he seen me — he fled.
d) —— the picture was costly — we bought it.

Find out the transitive and intransitive verbs from the

following sentences : 1x2=2
a) He is a doctor.

b) I purchased the book.

(5) PTO.



19.

20.

21.

Rewrite the following sentences underlining the finite

verbs and circling the non-finite verbs : 1x2=2
a) I love dancing.
b) I saw the child playing in the field.

Write a paragraph on any one of the following topics :
10

a) Importance of planting trees.
b) Your favourite tourist spot in Assam.

¢) How you have spent the time during lockdown.

Read the following passage carefully and answer the

questions given below :

Only trained drivers can drive a motor car safely.
Because of its short size and high speed, a car is a
very useful means of conveyance. In big cities, it is a
great necessity. Businessmen, doctors, lawyers,
leaders, engineers and high officers find it very handy.
It is a useful, comfortable and time-saving means of
transport.

Cars are priced very high these days. The price of
petrol is also shooting up. But the standard of living
is going up day by day in India. So the number of cars

on roads is increasing alarmingly.

Questions :

1. a) Who can drive a motor car safely ? 1

b) Give two reasons why cars are useful in our

everyday life. 2

(6) Contd.



c) What are the two negative factors about cars,

mentioned in the above passage ? 2

2. Write whether the following statements are true or
false : 1x2=2

a) Cars are cheaper these days.

b) The short size and high speed make a car very
useful.

22. Translate into English : 1x10=10

i) (9€ MR 7B TG AT |

i) W off TR “ffew T4, O T @It |

i) SIPIFL ToifiTeT aEl Wi 41 23|

iv) WegRe g e A9

V) TSl ¥ IR (oI SIISiTe 318 FINCH! 7o SR |
vi) (9€ @fen @2 ToT #ifp ez

vi) NS SRS RS O AT FN F ifes |
vii) S 42N 79 =R AT |

ix) (o€ 7¥Gl 4 93 el

x) e @3RI e W2 s dfe Aife )
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10.

11.

12.

13.

14.

() /625 + /81 - /169

2+2+24+2+3=11

(i) 12 x 12 x 12+ 11 x 11 x 11 + 3 x 132 x 23

(i) 272 x27% x 2k

(iv) (a7 x (@) x (@)
v) [(18 — 24x) + 6] + [(X* — 6x%) + X?]

sfgeree] Sfered]
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.
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Home Half-yearly Examination, 2020

Class : VIII
Subject : Computer Science

Time : 1 hour 15 minutes Total marks : 25
(The figures in the margin indicate full marks for the questions.)

1. Fill in the blanks : 1x10=10
a) The base of binary numbers is
) 2 i) 8 iii) 16
b) The full form of HTML is .
1) HyperText Markup Language
ii) HyperText Manager Logic
i) HyperText Markup Logic
¢) The equivalent binary number of decimal 7 is —.
i) 001 i) 100 iii) 111
d) tag is used to insert new line.
i) <br> i) <title> iii) <Head>
e) A is an HTML command that indicates the
layout or display of a whole or part of a web page.
1) attribute i) tag iii) markup
f) The number which has base 16 is called a
number.
i) octal i1) decimal iii) hexadecimal
g) A is a program / software used to browse

Internet.

1) Web server ii) Web browser iii) Webpage

1 PTO.



h)

The extension of HTML is .

i) .html i) .htl iii) .hlm
i) To insert image in the HTML document we use
tag.
i) <Head> i) <i> iil) <img>
i) attribute is used to give background image.
1) background ii) face iii) size
Convert the following : 2x5=10
a) 258, to binary.
b) 1101110, to octal.
¢) 156, to hexadecimal.
d) 11110001, to decimal
e) Al2 to binary
Write T for true and F for false one : 1x5=5
a) One attribute of body tag is bgcolor.
b) Text attribute is used to give alignment of text.
c¢) <HTML> gives the title of a web page.
d) 100 is the binary equivalent of 4.
e) Bit stands for binary digits.

* Kk X
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Class : IX
Subject : English
Time : 3% hours Total marks : 100

(The figures in the margin indicate full marks for the questions.)

SECTION : A

1. Answer each of the following questions in complete
sentences. 1x6=6
a) What do you think a telebook is ?
b) Who helped Evelyn to continue with music ?

¢) Why did Bismillah Khan refuse to start a shehnai
school in the U.S.A. ?

d) When did the Second World War break out ?

e) What was the mechanical teacher flashing on the
screen ?

f) Name the book from where the text ‘My
Childhood’ has been taken.

2. QGive brief answers. 2x4=8
a) What kind of teachers did Margie and Tommy
have ?

b) Why did Abdul Kalam want to leave Rameswaram ?
¢) How did Abdul Kalam earn his first wages ?
d) What was Bruno ? How did the author get him ?

(1) PTO.



“We all missed him greatly : but in a sense we were

relieved.” 1x3=3
i) Who does ‘we all’ stand for ?

i) Who did they miss ?

iii) Why did they nevertheless feel relieved ?

How did Evelyn feel music ? How did Evelyn become

an inspirational figure for the handicapped ? 2+3=5

SECTION : B

Describe what the following phrases mean : 1x2=2
a) A yellow wood

b) Evenings full of the linnet’s wings

Answer each of the following questions in complete
sentences : Ix5=5

a) Who is the poet of the poem

“The Lake Isle of Innisfree ?”
b) How does the woodpecker get her food ?
¢) What breathes beneath all uniforms ?
d) Where does the traveller find himself ?

e) What do you mean by ‘wanted wear’?

What are the three things the poet wants to do when
he goes back to Innisfree ? 2

) Contd.



10.

I1.

Give rhyming words for each of the following :
Yax2=1

core ; wood
Write the meaning of the following words :  1x2=2

glade ; provoke

SECTION : C

Answer ‘any one’ of the following questions :
1+1+3=5

How does Toto take a bath ? Where has he learnt to

do this ? How does Toto almost boil himself alive ?

Or

How does Toto come to grandfather’s private zoo ? Why
does grandfather take Toto to Saharanpur ? 4+1=5

SECTION : D

Read the following passage carefully and answer the
questions given below it :

Rush hour crowds jostle for position on the
underground train platform. A slight girl, looking
younger than her seventeen years was nervous yet
excited as she felt the vibrations of the approaching
train. It was her first day at the prestigious Royal
Academy of Music in London and daunting enough
for any teenager fresh from a Scottish farm. But this
aspiring musician faced a bigger challenge than most :
she was profoundly deaf.

3) PTO.



Evelyn Glennie’s loss of hearing had been gradual.
Her mother remembers noticing something was wrong
when the eight-year-old Evelyn was waiting to play
the piano. “They called her name and she didn’t move.
I suddenly realised she hadn’t heard,” says Isabel
Glennie. For quite a while Evelyn managed to conceal
her growing deafness from friends and teachers. But
by the time she was eleven her marks had deteriorated
and her headmistress urged her parents to take her to
a specialist. It was then discovered that her hearing
was severely impaired as a result of gradual nerve
damage. They were advised that she should be fitted
with hearing aids and sent to a school for the deaf.
“Everything suddenly looked black,” says Evelyn.

Questions :

12.

a) What did Evelyn’s mother notice when Evelyn
was waiting to play the piano ? 1

b) What happened when Evelyn was eleven years

old ? 1
¢) What was the result when the specialist examined
Evelyn ? 2
d) Make a sentence using the word ‘deaf”. 1

Read the following passage carefully and answer the
questions given below it :

The Hindu religion had sunk low at that time. It
was full of superstitions and encouraged caste

distinctions. Guru Nanak reformed it a great deal.

4 Contd.



Everybody was equal in his eyes. He did not believe in
the caste system; he regarded it as a great curse. He
said that no caste was high or low. He preached that
there was only one caste : the caste of man. Hindus
and Muslims but are the creation of the same five
elements. He asked people to give up hypocrisy,
selfishness and falsehood. He told them that true
religion was not in woods, in forests or in places of
religious worship, but in the hearts of the believers.
Guru Nanak’s teachings are very simple. They can be
understood and followed by everybody. He wanted
them to follow the true spirit of religion. It insisted on
oneness of God and devotion to Him, simple and
honest living, equality of all and purity of thought and

action.

Questions :

13.

a) Why did Guru Nanak regard the caste system as
a curse ? 1
b) Name the religion which had sunk low during the
time of Guru Nanak. 1
¢) What did he ask people to do ? 1
d) Inwhat does the true spirit of religion consist ? 2

SECTION : E

Rewrite the following sentences using the correct

tense form of the verbs given in brackets :  1x5=5

a) We (be) good friends for long.

(5) PTO.



14.

15.

16.

b) The bus (leave) the stop before I arrived.
c) It (go) to rain very soon.

d) Nobody (kill) in the accident last night.
e) They (play) since morning.

Change the voice of the following : 1x5=5
a) The boy is known to me.

b) Rose is called the queen of flowers.

c) My parents love me.

d) He was writing a letter.

e) They cut the trees.

Choose the appropriate preposition from the
alternatives given in brackets and fill in the blanks :

Yax4=2
a) Distribute the mangoes — the students.

(between / among / in)

b) That table is made — wood. (of / from)
¢) Students long — holidays. (about / of / for)
d) They live — hand to mouth. (by / from / with)

Change the form of narration of the following : 1x4=4
a) He said to me, “Why are you crying ?”

b) She said to me, “I saw a bird.”

¢) The man said to me, “Can you cook ?”

d) The teacher ordered the boys to stop talking.

(6) Contd.



17. Rearrange the words to make meaningful sentences :

18.

a)
b)

c)
d)

Do
a)

b)

2

h)

1x4=4
larger is a motor car a bus than
was | how he me asked
me help to none have |
are who this for you buying
as directed : I1x11=11

No other subject is so easy as this.

(Turn it into comparative degree)

Nothing else travels so fast as light.

(Turn into superlative degree)

Honesty is the best virtue.

(Turn it into positive degree)
The girl sings well, — ? (Add a tag question)

I have never seen a crocodile.

(Turn into interrogative)

She likes to read novels.

(make it a question using ‘what’)

She came to give the news.

(Ask a question to get the underlined words as
answer)

Write the opposite of ‘responsible’.

Fill in the blank of the phrase with appropriate

2

word “Cannot

(meaning : be not able to tolerate)

(7) PTO.



j) Write the one word substitute for ‘the state of

being alone.’

k) He does his work .
(Fill in the blank with a suitable adverb.)

SECTION : F

19. Amplify any one of the following : 5
A little learning is a dangerous thing
Or
A rolling stone gathers no moss.
Or

Translate the following sentences into English : 1x5=5

i) =2 smm Afev EIeFIE @8 Sl |

i) GHT ERF NS NgZew 1o Teofo Sz |
iii) R #Afbar e i |

iv) TE @ (08F SREW e |

v) TIRR @fS wae 24|

20. Write a story in about 200 words with the help of the
following outline. Add a suitable title to the story :5

A hungry fox — sees a crow with a piece of meat

—— wishes to eat the piece of meat —— praises the

(8) Contd.



21.

22.

crow — asks the crow to sing — the crow sings —
— the piece of meat falls down — the fox picks it

up and walks away.
Describe your first day at school. (150 words) 5

Write a paragraph on ‘Importance of physical exercise’.
(150 words) 5

* K X
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1. Fill in the blanks : 1x4=4

a) Fourth generation computers are based on

b) The keyboard shortcut to cut the selected text is

c) —— means to remove an unwanted part.

d) —— property specifies how the data appears
whenever it is displayed or printed.

2. Write T for true statement and F for false one. 1x4=4
a) An interpreter is faster than a compiler.
b) You can use a picture as a bullet.
c) A table is the smallest unit of worksheet.

d) Sorting is the process of arranging data in ascending
or descending order.

3. Choose the correct option. 1x4=4
a) To change the page margins, click the tab.
1) Home i) Insert
iii) Design iv) Page Layout

b) Analytical engine was designed by
i) Blaise Pascal i) Charles Babbage
iii) Herman Hollerith ~ iv) None of these

1 PTO.



¢) By default, footers are printed inches from the

bottom of the page.
1) 0.5 i) 0.6 i) 0.4 iv) None of these
d) A workbook can contain maximum —— worksheets.
1) 254 i) 255 i) 256  iv) 257
Answer in one word. 1x10=10

a) This program is designed to perform maintenance
work on a system or on system component.

b) This is the keyboard shortcut for the Thesaurus
option.

c) It is the small black square in the lower right corner
of active cell.

d) These are thumbnail images of slides printed
together on a sheet of paper.

e) It limit values that can be accepted in a field.

f) It stores programming code written in the access
database.

g) It is a faded image or text that can be used as
background for a slide.

h) Can we apply more than one animation in one object
of a slide ?

i) These are small programs used to automate a
repetitive task or set the database startup and exit
code.

j) This bar displays the data in the active cell.
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Answer the following questions. (Any twelve) 2x12=24

a) What are the characteristic features of the third-
generation computers ?

b) What is the use of Format Painter ? Where is it
located ?

c¢) What are Footnotes ? What are its two parts ?

d) Write the steps to select a range of cells.

e) Define Outline tab and slide tab.

f)  Write the steps to insert movie clip in a slide.

g) What are the two characteristics of primary key ?

h) What are the two areas of a Table design window ?

i)  What is hyperlink in presentation ?

J)  Write any two rules for naming a field in MS-Access.

k) Define : i) Input Mask  ii) Caption

1) Explain any two sections of a Report Design view.

m) Why Forms are used in MS-Access 2010 ?

n) Define : i) Primary key ii) Foreign key

Write the differences : 2x3=6

a) Header and Footer.

b) Portrait orientation and Landscape orientation.

¢) Autonumber and Number data type.

Write short notes on the following. (Any three) 2x3=6

a)
b)
c)
d)

Types of operating system.
DBMS software.
SmartArt.

Hiding and Freezing.

3 PTO.



Answer the following questions. (Any ten)  3x10=30
a) Explain any three characteristics of computer.
b) Define the following terms.

1) Peek i1) Snap ii1) Shake

c¢) What information is displayed on the status bar ?
What is the difference between Editing and
Formatting ?

d) Mention the three steps for using Mail Merge.

e) What are the different types of data that can be
entered in MS-Excel ?

f)  Write any three ways to run a slide show.

g) What are the different commands in the slide show
group to run the presentation ?

h) What is Alignment in MS-Excel ? What are the
different types of Alignments ?

1)  Explain any three data types of MS-Access.
j)  What are the different types of queries ?
k) What is validation rule ? What are the different types

of validation rule ?
) Explain the different components of hyperlink data
type.
Answer the following application-based questions. 5
A. Chandra has created a presentation on ‘Computer

Virus’. Answer the questions given below that will
help her create the presentation.

a) She wants to apply special effects on various text
boxes and images during the slide show. Which
feature she should use ? 1
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10.

11.

b) She thinks the presentation would be more useful
if she adds her own voice in the presentation.
Which device will she require for this purpose ?

1

B. Consider the given table :

EmpNo EmpName Salary DeptNo
E101 Sunita 10000 10
E102 Mahesh 12000 20
E103 Nitin 12000 30
E104 Mayank 20000 20
E105 Manav 15300 10

a) How many records and fields are present in the
above table ? 1

b) Which field would you suggest as the primary

key ? Give reasons. 1+1=2
Write full forms. 1x3=3
a) ENIAC b) MICR c) GUI
What are the rules that we should keep in mind while
creating a power point presentation ? 4
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Class : X

Subject : English
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(The figures in the margin indicate full marks for the questions.)

SECTION: A

1. a) Choose the meaning of the underlined words
from the alternatives given in brackets. 2x2=1

1) The postmaster, experiencing the contentment
of a man.... (faith/comment/satisfaction)

i)  .... draped in a curtain of rain.
(open/covered/hide)
b) Choose the correct answer from the alternatives
given below. Vax2=1
1)  Kodagu, the smallest district of ....
(Kerala/Karnataka/Assam)
i) A large freshwater fish found in Coorg is
called.... (Rohu/ Mahaseer/Katla)
c) State whether the following statements are True
or False. Vax2=1

1)  Thabo Mbeki was sworn in as the first deputy
president.

ii)  Mandela was born with a hunger to be free.

(1) PTO.



10.

11.

12.

13.

Who or what did Lencho have faith in ? 1
Where was Lencho’s house situated ? 1
Who wrote the lesson ‘A Letter to God’ ? 1

In which year the democratic election was held in

South Africa ? 1
Which does Mandela think is natural, to love or to
hate ? 1
Which is the best time to visit Coorg ? 1
What covers thirty percent of Coorg ? 1

What were Lencho’s feelings when the hail stopped ?
2

What ideals does Mandela set out for the future of
South Africa ? 2

What are the sports that Coorg offers to tourists ?
2

Give a description of Dhekiabari Tea Estate as seen
by Pranjol and Rajvir when they were driven through

it. 3
SECTION: B
Choose from the box given below the words that
rhyme with the following. 1x2=2
grass; sea

cage, pass, street, me, eyes
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14.

15.
16.
17.

18.
19.

20.

21.

Choose the meaning of the underlined words from
the alternatives given in the brackets. 1x2=2

a) He stalks in his vivid stripes.
(glaring / dark / pale)

b) There is a languid emerald sea.
(white / green / blue)

How is life in a tower ? 1
Where is the tiger kept in the zoo ? 1
Who is the poet of the poem ‘A Tiger in the Zoo’?

Why does the tiger ignore the visitors?
Why does Amanda wish to be Rapunzel ? 2

SECTION: C

a) How is Ausable different from other secret
agents? 5

b) Who is Max? How did he get into Ausable’s
room? What was he holding in his hand?
According to Ausable how did Max get in?

1+1+1+2=5

SECTION: D

Fill in the blanks with the right determiners. 1x4=4

a) I received —— encouragement from my
parents.
b) Rahul is younger than Ajoy.

¢) Sixty minutes make hour.

3) PTO.



22.

23.

24.

25.

d)

of the students were given a copy of the
magazine.

Fill in the blanks with appropriate prepositions.
1x2=2

a) You should apply  that post.

b) She writes  her left hand.

Use the correct tense form of the verbs given in
brackets and rewrite the sentences. 1x4=4

a) If it (rain) I shall not go out.
b) When he came I (read) a book.
c) He (leave) this place a minute ago.

d) She (be) a teacher since 2008.

Change the voice of the following sentences. 1 x4=4
a) Football is played everywhere.

b) They asked me to do the work.

¢) How did you solve the problem?

d) May God bless you.

Change the form of narration of the following
sentences. 1x4=4

a) She said to me, “Where are you going now?”
b) The old lady asked if I could help her.
¢) My mother said, “May you be happy.”

d) The man asked me to open the door.
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26.

27.

28.

29.

Correct the errors in the following sentences and
rewrite them. 1x4=4

a) One of my uncles live in Shillong.
b) Don’t do anything in hurry.
c) Her hairs is long.

d) Unless you do not study hard, you will fail.

Choose the correct alternatives from the choices
given in brackets and fill in the blanks. 1x2=2

a) He is an writer. (eminent / imminent)
b) He does not like to his plans. (alter /altar)
SECTION: E

Translate into English. 1x5=5

i) SINE (WS NG (FEEHNNCR (@] S |
i) W& AR e 4] SRIA F9l AR AR
i) O IR eI S 2

iv) (96 TR 79T (@ (e FIfpR @RI |
v) (€ (e wife g Sieic 2

Write in about 150 words an essay on any one of the
following topics. 6

a) The best way of spending holidays
b) A journey by bus

(5) PTO.



Or

Write a story in about 150 words using the outline

given below. Add a suitable title to it. 6
Outline: A rich man’s watch stolen by one of the
servants gives each servant a stick of
equal length saying “the thief’s stick will grow
an inch longer tomorrow” the thief cuts

an inch from his stick thief is caught.
Answer either (a) or (b). 5

30.

a) Write a letter to your friend telling him/her about
your hobby.

b) A “Swachh Bharat Abhiyan” drive was done by
the students and the teachers of your school.
Write a report for a local daily using the
information given below:

—12/6/2020, 10 am

——Around 200 students and 10 teachers participated
——Cleaned the school campus

——Dustbins installed

—Praised by the local people

——More similar drives promised

——Conclusion

31. a) Read the following passage carefully and answer

the questions that follow:

A king who was feeble and ill because of
idleness asked for medicine from a doctor. The
doctor was wiser than the king. He knew that the

(6) Contd.



king needed healthful exercise and not medicine.
The doctor, therefore, brought the king two heavy
clubs of a strange kind of wood. He told the king
to hold the clubs as the medicine for his cure. He
asked the king to grasp them by the hands and
swing them till his hands became moist with the
exercise. The moisture, the doctor said, would
make the medicine act. The king obeyed the doctor
and each day he might be seen in the open air at
certain hours, working manfully with his magic
clubs. His muscles grew strong, his health
improved, and he greatly praised the medicine of
his clubs and the wisdom of his good doctor.

Questions:
i) Why was the king feeble and ill ? 1
i) Who was wiser than the king ? 1
iii) What did the doctor know about the king’s
condition ? 1

iv) How was the king advised to use the medicine?
2

b) Read the following extract carefully and answer the
questions that follow:

TENTH May dawned bright and clear. For the
past few days I had been pleasantly besieged by
dignitaries and world leaders who were coming to pay
their respects before the inauguration. The
inauguration would be the largest gathering ever of
international leaders on South African soil.

(7) PTO.



The ceremonies took place in the lovely
sandstone amphitheatre formed by the Union
Buildings in Pretoria. For decades this had been the
seat of white supremacy, and now it was the site of a
rainbow gathering of different colours and nations for
the installation of South Africa’s first democratic, non-
racial government.

Questions:

32.

33.

1) How was the day of tenth May ? 1
ii) Where did the ceremonies take place ?
iil) What was the ‘inauguration’ for ?

What are the changes you would like to make in the
education sector if you were the Education Minister
of Assam ? 5

What is your idea of Covid 19? How did you pass
the lockdown days ? 2+3=5
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1.

Fill in the blanks : 1x4=4

a) The is a global network of networks.

b) An is an easy-to-use e-mail group service.

¢) An XML document can only have one element.

d) The operator finds out the remainder.

State True or False. 1x4=4

a) Routers help to connect to the Internet through
telephone lines.

b) The border propoerties can be used with <td> and
<tr> tags.

¢) The default active link color is red.

d) XML is designed to replace HTML.

Choose the correct option. 1x4=4

a) Which of the following is a valid name for an XML

element ?

1) <xmldocument> i) <SRollNo>

1) <Student Name> iv) <Student>
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b) The statement used to exit from the switch.....case

statement 1s

1) goto i) break
iii) continue v) exit
¢) ==isa/an

i) Arithmetic operator

i) Relational operator

iii) Compound Assignment operator
iv) Logical operator

d) Which of the following specifies the color of a link

when it is clicked ?

i) Active i) Visited
i) Hover iv) None of these

Answer in one or two words. 1x10=10

a) It is the unique address or location of a document on
the Web.

b) It is a popular consumer broadband technology.

c) These are angry or heated messages.

d) This folder helps you store dispatched messages
while your computer is disconnected from the
Internet.

e) Itis a method of presenting information in which the
selection of highlighted text displays more
information on a particular topic.

f) It is a computer program that serves requested

HTML pages or files.
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g)

h)

)

It is the part of an element that provides additional
information about it.

It is a named storage area where value is stored and
retrieved later when required.

It is used in JavaScript to take the input from the
user.

These are the links to sections within the same page.

Answer the following questions. (Any fifteen) 2x15=30

a)
b)

¢)

d)
e)
f)

g)
h)

i)
)
k)

D)

How did the Internet come into existance ?

What is a webpage ? What do you mean by
publishing a web page ?

What is a Web address ? What are the two Web
addressing system ?

Define modulation and demodulation.
What is a blog ? Who is a blogger ?

What are newsgroups ? Name two official categories
of newsgroups.

Mention two benefits of e-learning to students.
Differentiate between Cc and BCc.
Write any four facilities provided by the Internet.

What is the use of <img> tag ? What is the ALT
attribute of <img> tag ?

Differentiate between text-align and vertical-align
properties.

What is DTD ? List the two types of DTD.

m) What are the four default values of an attribute ?
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What is the use of <a> tag ? What is the purpose of
using href attribute used in <a> tag ?

Mention the limitations of switch statement.

What are the three data types in Java Script ? Write
the statement equivalent to A++.

Explain two types of comments in Java Script.

What is an XML parser ? What are the two types of
XML parsers ?

Answer the following questions. (Any six) 3x6=18

a)
b)

How does VTC take place ?
Define
1) Inbox
i) Attachments
i) Signature
Explain three logical operators.
Write a program in Java Script to input a number
and check whether it is odd or even.
Draw the XML tree for the code given below.
<cardetails>
<car>
<model> Santro xs </model>
<price> Rs. 3,75,000 </price>
<color> Blue </color>
</car>
<car>
<model> Santro Xing </model>
<price> Rs. 3,90,000 </price>
<color> White </color>
</car>
</cardetails>
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g)
h)

Are the following XML documents well-formed or
not ? If not, give reason(s).

a) <?xml version = “1.0”7>
<details>
<firstname> Joseph </firstname>
<lastname> John </lastname>
</Details>

b) <? xml version = “1.0”>
<rollno> 1 </rollno>
<name> Simanta </name>
<total> 560 </total>

¢) <? xml version = “1.0”>
<detail>
<name rn = 12> Ram </name>
<total> 465 </total>
</detail>

Mention three naming rules for an XML element.

What is the use of creating frames in a web page ?
Identify the error(s) in the following code and write
the correct code.

<body>
<h1> Creating frames </h1>
<iframe href = “fram1.html height = 300

width = 200>
<iframe href = “frame2.html height = 200
width = 200>

</body>
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Answer the following questions. (Any five) 4x5=20

a)
b)

c)

d)

List four differences between HTML and XML.
Explain the four kinds of e-commerce models.

What are the rules for defining a well-formed XML
document ?

What will be the output of the following code ?
var a, b, ¢

a=06

b=4

b+t =a

a-+-+

b——

c=a-+b

document.write (“a ="+ a + “<br>")
document.write (“b = “ + b + “<br>")

document.write (“c = “ + ¢)
Explain any four basic tags used to create a table.

Consider the following code :
<a href = “lastpage.htm]”>

<img src = “picture.gif”™> </a>
Write commands to do the following :

1) If the image is not loaded in browser, text
“Picture of Landsape” will appear.

ii) The image has no border.

i) Set the height and width of the image as 200
and 300 pixels respectively.

iv) Set the source of the image as “button.gift”.
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8. Answer the following questions. 5%2=10

A. a) Assuming A = 6 and B = 5, what will be the

result of the following statements : 2
i) ((A!=B) && (A>=B))
ii) ! (A >B)
b) What will be the value of a and b ? 2
var a, b
a=5+8 %2
b=(5+8) %2
document.write (“a =" + a + “<br>")
document.write (“b =" + b)
c) Write the following if.....else statement using
the conditional operator. 1
if (x > 0)

a = “positive”
else
a = “negative”

B. Why is computer education necessary ?

* kX
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